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int fun(int a,int b,int *c)
{a=a+1,;

b=b-+1;

*c=*c+1,

return(a+2);}
void main()
{inta=5,b=6,c=7,d;

d=fun(a,b,&c);}
(A)a=6
(B)b=7
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(A)Big
(B)Omega
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(A)10
(B)13
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2= A A
(A)10
(B)13
(C)25
(D)27

13. TIARN P T XX+l X HF 5 0% 9
for (i=1;i<=n;i++)
=N
for(k=j;i<=m;i++)
X=x+1
(A)n2
(B)2n
(C)n(n+1)/2
(D)n(n-1)/2
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(D) Java 7 43 45 #%

DBMS 245 7] ir % ?
(A)FARLE 3 12 % st
(B)F A
(Q?ﬂ&%ﬂﬁ&
(D)F 2 i st

% TCP/IP 2 ¢ vR— K (layer) f F /2 framing ?
(A)data link
(B)physical
(C)network
(D)application

Pattern-matching i/ & ;= chpf [ 4 32 & - best case p#E_O(n) > - worst case p*
AT AR 7

(A)O(2n)

(B)O(mxn)

(C)O(n*)

(D)O(lgn)

- B % & /% (algorithm)- = _&_
(A)halt in an infinite amount of time
(B)always receive input
(C)be a partially ordered collection of operations
(D)consist of unambiguous and effectively computable operations

RN dﬂz % compilation E42 ¢ % - fﬁﬁ,ﬁ% ?
(A)parsing
(B)semantic analysis and code generation
(C)code optimization
(D)lexical analysis



20. Object-oriented programming (OOP)= i £ & 4+ % inheritance, polymorphism
3T 5fRE 9
(A)Encapsulation
(B)Compartmentalization
(C)Synchronization
(D)crystallization

21. Selectionsort f#73 fin™ » HpEFFAERR 2 7
(A)O(n)
(B)O(1)
(C)O(n*)
(D)O(2n)

22. - Bty ¥ % Nbits 25 > p 2% s 5%k 5 5 SeRMlizn ?
(AN
(B)2N-1
(C)2N
(D)4N

23 TR E RS - BAIFANET P RO NIEREY 26 2
(A)Ada
(B)FORTRAN
(C)COBOL
(D)C

24. T 7w Aﬂ” % functional programming language ?
(A)C++
(B)Prolog
(C)Scheme
(D)FORTRAN

25. T 7lie % §  #3% symbolic host name = 5 32-bit IP address ?
(A)IP
(B)TCP
(C)DNS
(D)URL
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101 0 0 o1 & 457

#A=[8 1 0/ B=| 0 1 5 |»z@Ki7s];%|AB|=is
457 5 1 0 0 1

(-1 B 1 O (D)éx45.7x89 o

»

b

R D AL (54!
B A G 3x3 s F|Al=—1- tr(A)=12 [I-2A|=0 > # &> L Az Fiic
2 (MDA -44°422-1=0 (B) A°-44°-41-1=0 (O)

A3 —477 —%z—lzo (D) /13—4/12+%,1—1=0

%6 <4 (54 )
FABC:%zzEL PIAH-AX+XB=Cz &L 258 > f 5 ()
Jordan matrix equation (B) Hurwitz matrix equation (C) Sylvester
matrix equation (D) Cayley matrix equation
74 (54 )
1 2 0 -1
FA=12 6 -3 3| plaEL Az f(rank) i @ ?
310 6 -5

(A 1B 2 3D 4

2L 5 g
S E A 3,’5{:3_?]9

I

% 8 ~ %8 (15%):
Bl end (72 5 Wenflfg 7mpamd o

~ 3% (15%):

FlrzwErwi(1,-3,2)~(3,5,-4) ~(7,21,-16) >3+ 5 d pt = » E#74
= (Span)ehw £ 7 & (Vector Space) ™ %8st & = f258 & 77 » & @ di¥rd
(Span) tr# £ % B (Vector Space):# & (Basis) -

%9
7

% 10 <~ 38 (15%):
Let V be the vector space of all polynomials p(z) with degree at
most two, and let T:V —V be the linear transformation

2



T(p(x)) = p(z) + zp/(2).

(a) Prove that pi(z) =—2+1, po(z)=2+1, and p3(z)=2%+1
form a basis of V.

(b) Find the matrix representation [T]s of 7" with respect to the
ordered basis = {-z+ 1,2+ 1,2% + 1}.

(c) Find the determinant of 7.

11 = 42(20%) :

[1 ao af - af \
1 a; a} - af
. 9 ; .
The matrix M = I ay a3 --- a5 | 1is called a Vandermonde

2 )
\ 1 an a’u e azi /

matrix. Prove that det(M)= T[] (a; — ).

0<i<j<n
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